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#BHCLVTEA 323.0
25 = 37 41 78 78.0
fal’ 8hXX 42 38 80 80.0
SH —E 43 39 82 82.0
it 1B— 42 41 83 83.0
Bk HE 41 44 85 85.0
#%| = ccEMRIIFEA 330.0
g8 5 43 37 80 80.0
IR 7 40 41 81 81.0
INEF HE 41 42 83 83.0
AR 44 42 86 86.0
FHE Ih 48 45 93 93.0
3 |HILEEMRBEIIFEA 338.0
TAE [EZER 38 43 81 81.0
THE EF 43 40 83 83.0
Wz BE 45 39 84 84.0
T EZE 50 40 90 90.0
25 FHER 44 46 90 90.0
4 | ¥k ccERMRIIFS 339.0
AH Fi 38 39 77 77.0
A&t &R 41 41 82 82.0
INE B 43 47 90 90.0
xEH ER 45 45 90 90.0
R EX 47 50 97 97.0
5 |=FccEMREIIFEB 341.0
=G FE 39 39 78 78.0
J]’RT THsh 43 41 84 84.0
L IEJA 45 44 89 89.0
BY B 42 48 90 90.0
Bim BE 47 49 96 96.0
6 |BEEMMRIFEA 344.0
A Jtig 39 40 79 79.0
RE = 39 43 82 82.0
A =B 46 45 91 91.0
=& R4 46 46 92 92.0
ZEH Al 47 50 97 97.0
1 |EEERE 346.0
4+ $hE 41 41 82 82.0
HE IFR 44 42 86 86.0
ey (B 46 42 88 88.0
HE & 48 42 90 90.0
8 | EMREIF=A 352.0
£ #A 39 39 78 78.0
Al Bl 47 44 91 91.0
KH 288 46 45 91 91.0
== | = 47 45 92 92.0
=5 48 46 94 94.0
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& fF P =R R IF &8 352.0
2% —8| 41 42 83 83.0
=2 & 44 39 83 83.0
= EAN 43 44 87 87.0
£H & 48 91 99 99.0
iE 8X 51 52 103 103.0
%@ = ccEMMEIIFEC 360.0
RiE 3EX 43 43 86 86.0
R & 43 46 89 89.0
HHHE FER 45 45 90 90.0
5 R— 47 48 95 95.0
PEIR PHER 49 48 97 97.0
3 |HILEERREIIF=B 364.0
W] 41 43 84 84.0
T = 46 45 91 91.0
B 48 45 93 93.0
na % 48 48 96 96.0
58 #UA 46 952 98 98.0
4 |ExccERMRBIIFRA 365.0
meg F5 45 43 88 88.0
A f# 45 44 89 89.0
AR 5= 47 46 93 93.0
=8 g 47 48 95 95.0
FIIl BRE 50 92 102 102.0
5 BHRE 366.0
JAIA 15BA 45 44 89 89.0
EN A= 48 44 92 92.0
BF FH 47 45 92 92.0
=N ES 46 47 93 93.0
ZE 2 48 46 94 94.0
6 |ZIEEMEIIFEA 375.0
Mk B 43 44 87 87.0
hEy B 48 47 95 95.0
PN 50 46 96 96.0
Il [ 53 44 97 97.0
& B2 57 55 112 112.0
7 |BEEEREFEB 386.0
=E NN 46 44 90 90.0
oE AE 46 50 96 96.0
HEr 3CHA 52 46 08 98.0
JEH IEx 52 50 102 102.0
=% Hz 99 953 108 108.0
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&>V EB 347.0
FH # 43 40 83 83.0
L 175 43 42 85 85.0
i MAE 46 43 89 89.0
WA Hi 47 43 90 90.0
#H BE 46 44 90 90.0
#@| L TA—RAR 354.0
Il ERKF 44 39 83 83.0
i EF 42 45 87 87.0
Bk BEEF 44 47 91 91.0
EE BF 47 46 93 93.0
285 AEF 46 48 94 94.0
3 D<€ LVTEC 362.0
M K 48 40 88 88.0
T8 B 46 42 88 88.0
K¥ (&7 48 42 90 90.0
EH £ 20 46 96 96.0
g5t E— 60 99 115 115.0
4 |fRIUERRIF= 371.0
LH &ix 46 43 89 89.0
H B= 45 45 90 90.0
K #x 44 | 51 95 95.0
HR IEE 48 49 97 97.0
=t ik 90 48 98 98.0
5 | =FAccEEMEIF=D 381.0
A i 45 45 90 90.0
JKIE 46 48 94 94.0
R —EE o1 47 98 98.0
EE W o1 48 99 99.0
XxXH B— 08 o0 108 108.0
6 |RILEERMRIFEC 382.0
£H E=T 44 44 88 88.0
e E& 46 49 95 95.0
BrE TkEF 47 48 95 95.0
ATEF 1E 29 49 104 104.0
FaE FIER 61 02 113 113.0
1 |EXccERMRIIFEB 387.0
IR B 47 46 93 93.0
HE —B o1 45 96 96.0
RE FF 48 o0 98 98.0
MmEXR =X 20 o0 100 100.0
BA = o0 03 103 103.0
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&% [L S EM = 298.0
ER FA 45 45 90 90.0
FRL FE 48 46 94 94.0
. —HBB 60 o4 114 114.0
#& | $hr IEGCERM B IFE 369.0
N 44 43 87 87.0
reh BREE 46 43 89 89.0
" EZ o1 40 91 91.0
BrR F o1 o1 102 102.0
ARHBE EX 006 o/ 113 113.0
3 = EBEMHEMS 383.0
S BHIE 41 40 81 81.0
F*IE {# o0 44 94 94.0
A R o1 93 104 104.0
He & o4 20 104 104.0
5 FkE 02 23 105 105.0
4 | KMERE 387.0
=} 45 44 89 89.0
IBA FHE 47 45 92 92.0
iR RE 90 90 100 100.0
IBHE {5 o4 02 106 106.0
5 D<WVF =D 391.0
FE =4 90 47 97 97.0
8 A o4 44 98 98.0
HIEH 3= 48 o0 98 98.0
kg R 48 o0 98 98.0
T =8 06 29 115 115.0
6 | RIEEMMRIF=B 394.0
T B= 48 47 95 95.0
R =T 45 092 97 97.0
i X5 o0 49 99 99.0
wE Fi o1 02 103 103.0
126 £a 02 29 107 107.0
1 |EEERMRIFEC 408.0
[FEH —%& 46 48 94 94.0
EFM A 02 49 101 101.0
A IHER 49 23 102 102.0
FW #2 99 06 111 111.0
mr E5 29 o7 112 112.0
8 |RILEEEMRIF=D 409.0
WER % 93 47 100 100.0
MR B 02 o0 102 102.0
A#Hx BT 02 o0 102 102.0
ARA —HB 06 49 105 105.0
h4f HZ 99 09 114 114.0
9 |[LERERHRES 425.0
B R 29 44 99 99.0
RKAGR Fns o0 o4 104 104.0




moR)l R 23 9/ | 110 110.0
T EX 28 94 | 112 1120
Ny F= 60 99 | 119 115.0

TEEXEHFXO7ERIOEET

A rvb B XO7

5 A

DT OXTCEER




